B NI ek 8 P

WWW.VSJSJ.COM  021-59962109

{3 AL e 1T e i W

Notes of product ordering

VE&x3I

1 i H
i i i H

DB S GLEE N LA S
40, 50, 60, 70, 80, PO: i H & 77 Bit m..imm LGRS A
90, 120. 140, 160, f’é: f”jfjﬁ%éﬂ 7 o B g R )
200 72: ARAE T B
:Jﬁﬁé%l::
Wig: 3. 4. 5. 6. 8, 10 56 4 8 o 3t
9% . e - . P 5 I P
AR : '396 oy oy A 1485; Zeofi 24, 25 ST:LHN S2: Wbl S3:7Eu
=%. 60. 64. 72. 75. 80, 90. 100 K10E4L  K2:UgEdl K3 : e 4L
120, 144, 150, 160. 180, 200 OP3 U BLAT (R AE  OP4 /R A<
240, 256. 288. 320. 384. 512. TR ok
600, 800
VERZR3I
[ Lo | e
DR W LS
40, 50, 60, 70, 80, PO: 1 Hii i 17 Bil DO AN R R PL A AR . R R
90, 120 140, 160. v i;fﬁu?lﬁ o HL DL A i R
: PR H PR
i
Melh. 3, 4. 5, 6, 8, 10 ﬁrtljmﬁ;—t
1 T e - s IS ac Ul o = Vi
R B Db 1Dy 105 1oy 20028 B5 SLOG#H Sz el S3:EHH
=k 00, OF; T2x 150,50, 00, 100, 0P3;d&x§HL$§1$iéﬁﬂ OP4: i A 35 il
240, 256, 288, 320, 384, 512, T:JH RS RS K
600. 800

-18 -



B NI ek 8 P

WWW.VSJSJ.COM  021-59962109

3:1 8 10 18 22 40 50 125 210 = 400 1,050
41 18 20 40 45 110 125 260 450 800 1,780
Lo B 16 18 36 41 90 110 230 400 700 1,600
6:1 22 26 55 65 125 260 550 1,000
8:1 5 6 15 18 50 55 120 210 450 950
10:1 12 15 22 32 70 130 210 305
9:1 8 10 18 22 40 50 125 210 | 400 1,050
12:1 18 20 40 45 110 125 260 450 800 1,780
15:1 16 18 36 41 90 110 230 400 700 1,600
16:1 18 20 40 45 110 125 260 450 800 1,780
& 20:1 18 20 40 45 110 125 260 450 800 1,000
% L, 25 16 18 36 41 90 110 230 400 700 1,780
& 30:1 36 41 90 110 230 260 = 700 1,600
% 32:1 18 20 40 45 110 125 260 450 800 1,600
- 36:1 22 22 55 65 125 260 = 550 1,780
e 40:1 16 20 36 41 90 110 230 400 700 1,600
g’ Nm 48:1 22 22 55 65 125 260 650 1,000
5 50:1 20 25 50 67 120 230 450 700
.§’ 64:1 6 6 15 18 50 60 120 210 450 1,000
; 48:1 18 20 40 45 110 125 260 450 8OO 1,780
£ 60:1 18 20 40 45 110 125 260 450 800 1,780
2 64:1 18 20 40 45 110 125 260 450 800 1,780
75:1 16 18 36 41 90 110 230 400 700 1,600
80:1 18 20 40 45 110 125 260 450 800 1,780
90:1 16 18 36 41 90 110 230 400 700 1,600
100:1 18 20 40 45 110 125 260 450 800 1,780
12011 | 18 20 36 41 110 125 260 450 800 1,780
12511 16 18 36 4 90 110 230 400 700 1,600
L1501 16 18 36 s 90 110 230 400 = 700 1,600
160:1 = 18 20 40 45 110 125 120 450 800 1,780
180:1 | 16 18 36 41 90 110 110 400 = 700 1,600
200:1 16 18 36 41 90 110 230 400 700 1,600
240:1 36 41 90 110 230 400 700 1,600
256:1 18 20 40 45 110 125 260 450 800 1,780
320:1 16 18 36 a9 110 230 400 = 700 1,600
384:1 22 22 55 65 125 260 550 1,000
512:1 6 6 15 18 50 50 120 210 450 1,000

=48



B NI ek 8 P

WWW.VSJSJ.COM  021-59962109

Max. output torque

BAEmmis | Nm 1.5times TN 1.5{E8EHE
R Lae | Nm 2times TN 2f58EEHE
o cmasm | N 165 185 240 265 400 450 1,240 2,250 3,700 4800
P | N 135 150 220 230 420 430 1,000 1,500 3,500 4,500
ToraR PN e 0.65 0.7 1.8 1.95 47 4.85 11 22 35 55
Nt | pm 10,000 10,000 8,000 8,000 6,000 6,000 6000 4,500 4,500 4,000
A e | mm 4500 4500 4,000 4000 8500 3,500 3,500 3,000 3,000 2500
ﬁ;;i%e V\EER dB(A) <56 <56 <58 <58 <60 <60 <65 <68 <70 <70
VER <60 <B0 <61 <61 <B3 <63 <68 <70 <75 <78
A\Te;?%?&fglme . h 20‘m0
E““'E’];gg’g‘g” load 16 =96% 268 >94% 3B =90%
e | L1 <3 <3 <3 <3 <3 <3
PO g L2 ' <5 <5 <5 <5 <5 <5
@ La <7 <7 <T | <7 <7 <7
£ L1 <14 <14 <5 <5 <5 <5 <5 <5 <5 <5
VE P1 E Lz <16 <16 Zri | <7 <7 <7 <7 7 <7 <7
& o La L <18 <18 <9 <9 <9 <9 <9 <9 <9 <9
% e | L . <20 <20 <14 <14 <8 <8 <8 <8 <8 <8
o P2 E Lz <24 <24 <16 <16 <10 <10 <10 <10 <10 <10
= © Ls <28 <28 <18 = <18 <12 <12 <12 = <12 @ <12 <12
3 £ L1 <5 =h <5 <5 <5 <5
i:_;, PO S L2 <7 <7 <7 <7 <7 <7
m ® |Ls | | | | <9 <9 <8 <8 <9 <9
= L1 <16 <16 <7 <7 <7 <7 <7 <7 <7 <7
VER | P1 g L2 <18 <18 <9 <9 <9 <9 <9 <9 <9 <9
% | Ls <20 <20 <11 <11 | =11 <11 T o A S s | <11 <11
e | Lt <22 <22 <16 <16 <10 <10 <10 <10 <10 <10
P2 E L2 <26 <26 <ig | <18 <12 <12 <12 <12 <12 <12
@ |Ls . <30 <30 <20 <20 <14 <14 <14 <14 <14 <14
31 0031 0031 0135 0135 077 0.77 2.63 5.83 1214 2518
41 0022 0022 0093 0.093 052 0.52 1.79 3.21 7.78 2430
51 | 0019 0019 0078 0078 0.45 0.45 153 | 310 607 2324
L' &1 0018 0018 0075 0075  0.42 0.42 1.40 2.85 524 2058
_ 81 0017 0017 0065 0.065 0.39 0.39 1.30 2.10 463  56.80
9“ 10:1 0016  0.016 0063 0063  0.39 0.39 1.28 1.95 4.60
% 15:1 0015  0.015 0039 0038 072 0.72 2.40 3.35 7.47 5530
= o 20:1 0007 0007 0.049  0.049  0.35 0.35 1.60 2.73 6.95 5210
g é 251 0007 0007 0039 0039 025 0.25 140 225 6.65 5210
2 = Lp 821 0007 0007 0038 0038 018 0.18 1.40 2.25 581  50.09
B 40:1 0005  0.005 0027 0027 0.8 0.18 1.30 2.25 581 50,09
é 64:1 0005 0005 0.027 0027 0.16 0.16 1.30 2.25 528 4075
S 60:1 0015 0015 0039 0039 028 0.28 157 287 6.85
80:1 0007 0007 0.039 0039 0.25 0.25 1.38 2.25 6.10
100:1  0.007  0.007 0016 0016  0.25 0.25 1.35 2.15 570 3860
160:1  0.013  0.013  0.016  0.016  0.18 0.18 1.35 2.10 555 3650
L3 200:1 0005 0005 0016 0016  0.18 0.18 1.30 2.10 532 3285
256:1  0.005  0.005 0016 0016  0.16 0.16 1.30 2.10 521 3285
32011 0005 0005 0016 0016  0.16 0.16 125 | 210 515 3071
| 5121 0005 0005 0016 0016  0.16 0.16 1.20 2.10 515  28.85
_ L1 0.37 0.37 0.93 0.93 2.35 2.35 6.15 11.30 19.00 31
] VE L2 0.45 0.45 1.15 1.15 2.70 2,70 8.00 13.50 2400 42
3 e L8 0.55 0.55 1.35 1.35 3.20 320  10.00  15.80 20.00 50
£ ¢ Mg 0.51 0.51 1.7 1.7 4.4 4.4 12 17 26.5 50
2 VER L2 0.61 0.61 1.9 1.9 5.0 5.0 14 19 296 61
L3 0.71 0.71 2.1 2.1 5.5 5y 16 21 32.6 70
(1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm.  (1)38 7 ZEM H ¥ 100rpmEs, 45 A F M H O B 2 B e hfamE A,
(2)The weight of reducer in this book is approximation,the practical is depend on the finished product. EEISERYRERRENERS LTS, WEERRHEE,
(3)The moment of inertia relates to the ratio. frame. input shaft and to standard motor shaft . etc. (IR, ERAEEN. BT EMTEEEM, HAWNE
AR

-20 -



B NI ek 8 P

WWW.VSJSJ.COM  021-59962109

output i input SHEMBA input @ERGA
VE40-200 R EFRPER
L3
_Le1 L7 L1
L2
_ P
Il 7
o= o= o BT P
8|
a
L51.] L5f
131 L4

Other shaft Fi /= W] ) W SR

§ S1 shaft % S2 | shaftwithkey M@ = S: | splined shaft & St | special shaft $§%#h
;; : ) _}g . }§ ] -}__ﬁ- According to customers
‘g‘ l | ( APERGHE
5 ki hollow XM AsiEmez) kz |hollow with key BSMF. ks splined hollow #£8MK7. ke | special hollow ¥¥L
'E * | _%_ k. According to customers
gw ( E =f AP ERBIE
[=]
B1 3 4 5 5 6 6 8 10 12 14
C1 M4X10 . M4X10 M5X12 M5X12 M6x16 M8X19 . M10Xx22 M12X25 M12X25 M20x42
H1 . 11.2 13.5 16 18 225 245 28 a5 43 53.5
D1 . [} 34 44 52 . 62 70 80 | 100 120 145 184
D2 4 x _ M4X6 | M4X9 _ M5X8 M5X10 M6x10 M6x12 _ M10X16 = M10X16 _ M12X20 M12X22
b | D3 h7 10 12 14 16 20 22 25 2 40 50
3; D4 ® 2 | 15 17 20 25 25 3 40 60 110
§ D5 | h7 | 26 _ 35 | 40 | 52 | 60 68 _ 80 100 _ 130 | 160
% D7 ® 40 50 60 70 80 90 _ 115 140 162 205
L1 16 _ 14 25 25 25 25 40 55 65 70
L2 | =25 | 25 | 25 | 8 | 5 5 | & 6 | 75 | 75
L3 .23 18 30 28 36 3 50 70 80 82
L4 | 26 | 245 | a5 | 8 | 40 46 55 75 87 90
L5 L 2 | &4 | 8 | s 3 5 4 4 | 5 6
7™ 385 53 675335 405655 48 69 B6 475 675 875 65 865 1105 55 77 101 74 104 1345 B85 1235 162 95 13451735 137 176.5 216
A2 motor  RIEFMHL  motor  MRIFEHL motor  IRIEEM  motor | IRIBEH  motor | IRIEEM
B2 motor  #RIEEHL motor  RIEEHL motor IWEMHL  motor IREEH  motor  IRIEHL
. H2 _ motor  HRIERINL  motor | MRIEFIHL  motor  IREEEIHL  motor | IRIEAIHL  motor | IREEAIL
E D11 §§ motor RIEEH  motor  MIREH motor  ARIBEH  motor  MIEEAH  motor  HMIEAH
3 D21 | 28 E motor  #RIEEHL motor | IRIFEH  motor  RIFEHL  motor | HMI|EAL  motor | HRIFBEH
g D31 gﬁ motor | HREEEAL motor  MRIBEHL  motor  IREEEML  motor  IRIBEAL motor  IRIEAML
Ei D51 ,§§ motor  HRIEEAL motor  MIEEM  motor IREEEHL  motor  MMEEH motor  IREEML
- L31 motor  IRIEEAL  motor  MRIEMHL  motor  MRIEEHL  motor  IRIBEML  motor  IRIBEM
L51 motor  iR#EEHL  motor  MRIBEHL  motor ARIEEHL  motor  MIEEHL  motor  AREEHL
L61 motor  REEEIHL  motor  REEHL  motor  IRIEEHL  motor  IRIEEH motor  IRIEEL
(1)dimensions refer to the mounted motor-type ,the size can be changed (NEESRMRARBHANEEN . EER-TTIAF S
(2)dimensions refer to the frame of the boxes,the size can be changed (ELES WA ERNPSHEEMN EERTRTIGEL

=2 =



B NI ek 8 P

WWW.VSJSJ.COM  021-59962109

input S{EMRIG input SETIGN
VER40-200 R EPER
L3
© | L1
= 2 c
o&-— &g
L7 L5 L4
Other shaft P AEEAEHAR
E g S1 | shaft ¢ S2 _“shaf‘t w_ith key B i S3 | splined shaft £ St _ special shaft 3558
% - ) _}g ) P ) }E According to customers
§ ( ( ( ARERGE
E k1 hollow XA FLswemEx | kz  hollow with key @M. ks splined hollow #£#M3IL| ki | special hollow ¥%7L
s | | | '
g al ) 3 = According to customers
gv Eﬁ T 8} AR
o
Bt | & | 4 5 5 6 6 | 8 10 12 14
ci | M4X10  M4X10  M5X12  M5X12  M6x16  MBX19  M10x22  M12x25  M12x25  M20x42
Hi 112 135 16 18 225 245 | 28 35 43 | 535
DA 0] 34 44 52 62 70 80 100 120 145 184
E D2 . 4x . M4X6 M4X9 M5X8 M5X10 M6x10 M6x12 . M10x16 . M10X16 M12X20 . M12X22
% D3 . h7 | 10 12 14 16 20 22 . 25 . 32 40 50
E D4 . 12 15 17 20 25 25 35 45 55 110
2 |/D5 h7 26 35 40 52 60 68 80 100 130 160
é D7 . 40 50 60 70 80 90 115 140 162 205
L1 16 14 25 25 25 25 40 55 65 70
L2 25 25 25 3 5 5 | 5 | 8 8 7.5
L3 23 18 28 3 3% 50 70 80 82
L4 26 245 35 35 40 46 55 75 85 90
L5 2 4 3 5 | 3 5 | & | s 5 6
L7® 385 53 67.5 335 495655 48 67 86 47.567.587.5 65 8651105 55 77 101 74 104 1345 85 1235 162 95 13451735 137 1765 216
L8 a9 49 75 75 1036 103.6 1255 140 151.2 205
A2 motor 1RIFEH motor 1RIZEH motor IRIFEN motor IRIFEN motor RiFEM
B2 motor RIBEMN motor REEH motor HiEmH motor HRiEmH motor RIFAEMN
?':1 H2 e a motor  iRiEEML  motor RIZE motor  iR#EFEHL motor . IR motor RiZBH
; D11 ‘g‘ ?E motor RiFAEM  motor . RIERH motor RiEmH motor RiEEHN motor RIFAEH
< |D21 | 2w motor RiZmm motor 1RIBEH motor REEN motor RIEEN motor BIEBHL
£ D31 EF  moor  MEEAL motr  RERAL motor  MEEH  moor  RERA  motor A
'g. D51 2: g motor RiEm motor IREBH motor RiEmEH motor BN motor RiERHL
= L3t motor  RIEEHL  motor  IRIBEM motor  RIEAEM motor  RIFAEH motor  RIFEHL
L51 motor RIFE motor HRIEE motor HEEE motor RIEEH motor HRigHRH
L6 motor RE\EBEH  motor REEEA motor HREE motor RFERA motor RIBBEH

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

22 =

(1ELLRBRAETRAODEAN ELERTTUFEL
(2ELSWREERNTENEN BLERTA AL



